1. 2x3x4x5X6XTx8x9IX10=2*x3 x5 x7 °|t}. o|uf, x4+y+z
o] #h2?

@ 8 @ 10 @14 @ 21 ® 25

B ~

2x3x22x5x(2x3)xTx23x32x (2x5) =28 x3* x52x7
ojmg

x=8,y=4,z=20°]|t}.

JHB2 x+y+z=8+4+2=14 0|t}




2. 3dh? + (—4a®b®)3 x (2ab%)? & AXSH?

@-2r @ 0l @ -t

B

3a3b? + (—4a’b?)3 x (2ab?)3
= 3a®h? x (— ) x 8a*b®

3
= -—Zp?
8

1
64a8b?




o 2 a7 278l A"HT Ay,

SN I FIEE LN

{ax+3y =7
g5te] 78 Zolet. ol - b o) G bX

@ o2 03 @4 ©5 9/ ¢

x=2,y=b53x-2y=4° HidstH b =1
x=2y=15ax+3y=7° g5t a =2
ot g-b=2-1=10°]|ch




A~ P
9] AFE=?

@ 174 @ 271 @)3 71 @ 47 ® 570

U138 M,
30" 30° 30




? (B 27H)

)
)
D)

HE
o

o}
olig
Nfo

ojn

szt tehfol e,

il

4
iy
o .
r R
R
oo
W
h @l
=R
e 4
i
50
SO
G A&
< )
& . oF
G5 T
EICAy
A AF T
o A o
g
e

B

+ B
—len KR TH o%

® 00




1 5be ), 0 o] Aot

S

o

@ 15 @ 9 @ -15 ® -21

O 21

~&B

4a® +3a+3

a’>—2a+4+3a%+5a-1
a®l A4= 3,

3

o/

3

A
A%

©3x3=9




7. (-4 (x-2)(x+1)(x+3)-25=Ax*+ B3 +Cx* + Dx+EY
™, A+ B+ C+D+ E?2| gk& FoHH?

@ -2 (@)—1 ® 0 @ 1 ® 2

S5 ~
(x-4)(x-2)(x+1)(x+3)-25
={(x—4)(x+)H(x-2)(x+ 1)} -25
=2 -x-12)(x*-x-2)-25
x?—x =12 A &sto] F2stA (1-12)(r-2)-25 = 2 - 14¢-1
X2 —x=1t= YU H x* — 243 + x2 — 14x2 + 1dx—1 = x* -
2x3 —13x% + 14x -1
2t A+B+C+D+E=1-2-13+14-1= —10°]|t}.




X+y
3

® x+2y @ x+3y ® x—2

A o, 3{2B-4(B-3A)} - 324+ 3BE x,y =

3{2B - 4(B-3A4)} - 324 + 3B 2 72517 Helsiw
3(2B - 4B + 124) — 32A + 3B

= 3(124 - 2B) - 32A + 3B

— 36A — 324 - 6B + 3B

=4A - 3B

1a-38a=""2 p=""2 2 qgaim

2 3
—x_y—3><—x+y =
2 3

4 x




® n(a+b)(a+b)
® n(b-a)(b-a)
® n(a+b)(b-a)

B

@ n(a-b)(a->b)
@)r(a+b)(a-b)

(A 9] ol

<2a+2b)2x 1,
2

=S {@+b-a® +8%)

- g(2ab + 2b2)

= n(ab + b?)
(B 9] |el)

2 2
_71'
)

T

{(a—l—b)2 +a? —b2}

(2ab + 24?)

3 N

(ab + a*
- A

[

oo}

(@ - ?)
(a=b)(a+b)

2a+2b\?% 1 1 1
:7T< @ )x—+7ra2><——7rb2><—

2

)
n(ab + a*) — n(ab + b?)




10. F A x, yoll tiste] «, A S xxy = (8xy® + 4xy?) + 2xy , xay =

2y — 2 EN EX(-;IO_B‘_;]— (x*y)_('XAy) le) ]._8_17
(12x%y — 8x%y) + 4xy ol of, —(x*y)+(my)“]%‘ ,

o) 6y + x o 6y — x © 6y — x
by + x 6y —x 4 6y + x
@ 6y—|—x @ 3y—x
Gy — x Jy+x

xxy = (8xy® +4xy?) + 2xy =4y + 2y
xAy = (12x%y — 8x2y) + dxy = 3x - 2x = x
(x*y) = (xay) _ 6y—x
(x*y) + (xay)  6y+x




11. HAHdax+by=1°]F A 2x—y=5, x+2y =59 W& AL
Ut oW, a & pofl Tt A o= b 227

1-b
®a=1-3 @a=1+3 ©F ;

1+b 1-5b
@a_T @a—T

B ~

{2x_y:5 W gy (1)x2+(2)2 std

x+2y=5 (2)
5x =15
b x =3, y=1
ax+by=1°] 234 (3, 1) = thYstH
3a+b=1
 1-b
La=——

3




12.

259 ol EA9] 2| W=l o591 et F 1= 20,000
golgich. 19d 1 2 ujd =S 10% A F7tsta, &=l
oid 5% 4 A oto] Fdo] W=ilo] o=l ET} 5,700 Hol Wttt
ol wf, 2 Ao =il I+= 2 BRIV (E85HH 1.12 = 1.21
, 0.952 = 0.9025 & ©]-&3tal, 74+ WOl Ao A H Ho}o
LEtjolzt)

@D 8000 @ 9000 3 10000 8
@)11000 ® 12000

S5 ~
W=l 5 x 1, = 5y

x +y = 20000, 1.12x — 0.95%y = 5700

F oGS A-st] EH x=11242.--- 0| B2

i o] z-2] o] A ¥ ste] e H

x = 11000(%) ©]tt.




(a+ b)(a® + b?) —ab(a + b)
3ab

13. a?+3ab+b% =5,a%-ab+b*>* =14 0,

o] e BF e A2?

@) i% @ =1 ©) ig (@)ig G +

w
Wl

B \

a’?+3ab+b*=5---
a?—ab+b2=1--- ©
QO-O&tdab=1--- ©
©2 Ol HYstH a® + b =2 0|ER2 a + b = +2
~(a+b)(a® +b?) —ab(a+b)
’ 3ab
(a+ b)(a® + b?) —ab(a + b)

2
= = +—
3ab 3




4 1

y

g { x

n

ax+ by =17

o, g+ b 2] F2?

D1 @ 3

11

6 a7 2e

® 4 @)6 ® 8

24A+6B =11
12A - 18B = -5

=

Lx=3,y=2

ax+ by =17
ax—by =13

3a+2b=17
3a—-2b=13

ol 2JHpA A]

&
O] il H o "IE%E&

Q-2xO&sHA=

1
7B:_
2

Wl

a=5 b=19°E2 g+ b=60°|th




15. AT Hor el ofd 7127} Zo] 1800m 9] 4 S5l
2L, Zo] 600m ©f H'd-5 SHsh= dlofl= 220 AR,
o] Z1#te] Aol % m 1717

D)200m @ 250m @ 300m @ 350m & 400m

S5 1
Azte] dol& x 2tal st
1800+ x 600 + x
5 2
3600 + 2x = 3000 + 5x
- x = 200




